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ORDINARY LEVEL NATIONAL EXAMINATIONS, 2016

SUBJECT : ENGLISH I
'DURATION : 3 HOURS o
INSTRUCTIONS:

1. Write your name and index number on the answer sheet as written on your
registration form.

2. Do not open this question paper until you are told to do so.

3. This paper consists of FOUR Sections A, B, Cand D.
SECTION A: Comprehénsion and Vocabulary (30 marks) -
SECTION B: Grammar and Phonology (45 marks)
SECTION C: Summary (10 marks)

- SECTION D: Composition (15 marks)

4. Answer questions as instructed in scctions A, B and C.
Chod;e only ONE topic from Section D.

S. Use only a blue or black pen.

For more copies of N-!.2ve] English, Physics, Biology, Chemistry, Geography, Mathematics, English and
History Contact - for delivery. : Page 1




SECTION A COMPREHESION AND VOCABULARY (BOMARKS)

Read the passage below and answer the questions that follow

Unemployment is one of the most formidable problems faced bty devsleoping countries.

Ironically the rcason for this scems to be education.

For centurics the hoc has supported an cver increasing populaticn in Africa. A peasant
population with the help of modern agricultural tcchniques could ea=ily continue to support
pcasants. It is simply a matter of cach family producing a little morc from its ancestral plot.
What it cannot do is to produce food that pcnniless town dwellers can afford.
L] ‘!".1

To an aspiring African, a papcr qualification is a passport to the good things in life: after all,
isn’t that how others got their solidly built bungalows with electricity, piped water supply,
comfortable furniture, cars and transistor radios? And were better to acquire education and be
within rcach of thesc attractions than in towns? It is very human recipe for disaster. In
country after country in which the cconomy is based 80 or 90 pefcent onagriculture almost
cvery young person is filled with ambition of getting away from the land.

Pcrhaps onc in twenty finds a satisfactory job, which is not surprising when one knows that in,
Kenya for example, there are fewer than 1 million jobs for the population of 10 million qualified
pcople. But the next crop of youngsters notices_only those who have made good, not the rest
who have drifted into thc_slums-cauldron of unrest which from time to time bubble over
violence. ’ '

. The straight forward way out of such dilemma would seem to be widening of t}%e economy and |
by_industrialization to createc morc jobs in ‘factories. This is not always easy in developing "
countrics. V : - '

Their capital resources arc limited. Their products would have to compete in the world markets
with thosc from wecalthicr nations. And to do this successfully, they would have to employ
modern industrial techniques which are designed to save labor and to create extra jobs! For
example, a West African country sccured a contract for supplying confectionary groundnuts to
Ilolland. Soon a hundred or so women were finding welcome employment in sorting the
groundnuts. Now somc onc has invented an electric device which does the job quicker. The
women will soon be out of work again. ‘

Cottage industrics, i.c. small workshops run by a few individual craftsmen, arc often
encouraged in these countrics but they operate on such a small scale that no appreciable
results have yet been achieved.

There remains agriculture. Politicians arc coming to the unwelcome conclusion that in
countrics in which it is the major industry, it will still be so in the next twenty or thirty years.
Providing an agricultural cducation or an agricultural bias to a general edudation has been *
widely tricd but it is not very successful. One country sct up an agricultural training college to
provide a three year course for youth who signed a document stating they would work on the
land in their villages. Parents had to agrce to provide the land. In the last term some were
asked if they were going to work on the land

“Oh yes,” they agree cheerfully, ‘but not just yct.” First we have to go to the town to get ajob to
repay our parcnts for our cducation, you sce, we have young brothers to educate too.’
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A high ranking official in the same country cxplained that once a boy is admitted to school of
college where agriculture is taught as a subject with an examination at the end, he is lost to
the land forever. Agriculture for him becomes just another academic subject in which he can
obtain a certificate or degree which will entitle him to a white collar job in town.

The hard fact is that if those boys are lucky enough to get jobs as dock laborers for two
months a year, they earn more than their brothers who work on the farm all year. Work on the

. land is cohsidered drudgery with a hoc. The smart lads are those who cscape; the ones who

remain are the failures. Nothing will change until this set of valucs is reversed.

PART I: Comprehension (5 marks)
Answer TRUE or FALSE after each statement as uscd in the passage.

1) Boys who work as dock laborers earn morc than those who work on the farm.
2) Providing an agricultural education has been very successful.

3) Employment is the most formidable problem facing devcloping countrics.

4) In Kenya there are enough jobs for the population of qualified pcople.

S) For many year the hoe has supported the increasing population of Africa.

PART II: Answer the following questions according to the text. (15 mai'ks)

s

1) Why is it difficult for developing countries to:

a) Widen the economy. (1 mark

b) Establish industries and create more jobs in factorics. v (1 mark)
2) Give two disadvantages of cottage industrics. (2 marks)
3) Mention three possible solutions to the problem of unemployment as discussed

in the passage. _ - (3 marks)
4) Explain why boys don’t like working on the land. - (2 marks)
S) In the sentence, It is a very human recipe for disaster’ what does it’ refer to? (2 marks)

6) Accaording to the passage, what does thebfollowing mcan?
1) “... Those who have made good” (4th paragraph). - (1 mark)
1i) “the straight forward way out of such a dilemma” What is the dilcmrna? (1 mark)

7) - Why is a paper qualification considered a passport to good things by an

- aspiring African? ’ (2 marks)
¥
PART III: VOCABULARY. (10 marks)
Fill each space with one of the words in the box below:

varying, late, reserved, consequences, vowed, amidst, cligible, clear, reply, uscful.

1) The instructions on the computer are very ........x.....c..oo......

2) Marthais avery .......ccccocoueeenn.. girl who never speaks much.
*3) The editor wondered whether John was ................. for the job.
4) There will be .......... for your actions. '
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5) Jessica ......... e .... never to help her brother again.

6) The shocscomein ...................... sizes. ! ‘
'7) We have a spy .....eueeens us.

8) Fruits arc VEIY coeiviiinnnns to our bodics.

9) Youwil be.............. for school.

10) I applicd two months ago but haven’t received a ............... yet

SECTION B: GRAMMAR AND PHONOLOGY. (45 MARKS)

PART I: Complete the sentences with the most suitable answer among
the given alternatives. Write only the letter that stands for

g  the correct alternative. : i (20 marks) |
© 1) OurteachCr ... us a test when the headmaster entered the classroom.
: a) has given b) gives c) was giving d) will give ' :
2] LB s smenssiamem know the conscquences of our actions. | L
a) did we b) we did c) we didn’t d) didn’t we "
B) © VeSS YOI ; womers 151532 vasams Hard, I shall not support you anymore.
a) will work b) could work c) work d) worked

4) Sheasked him ........cocoiiiiiiiiin
» a) how she could improve her English .
b) how could-shc improve her English
¢) how shc is for improve her English
d) how she was iuproving her English.

=1 I | e — outside your housc at midday. .
a) picked you b) pick you up c) lift you lift youup + L
6) Hecisadisgrace .........c...oenie. the whole community. ‘
a) for b) of c) on d) to
Tl meie e v bt o 51 05 his laziness, James still managed to get the work done.
a) despite b) in spite ¢) but for d) for all
&)  Kabirigi threw the stone ... than anyone clse.
a) much further b) much morce far c) more further d) much more further
9) It was IR s g difficult question that we did it till last. ..
a) such very b) so very ¢) such a very d) so a very
10) He iovvmomsnsms e the house. :
a) stole b) sticals ¢) robbed d) had stolen
I1Y ShE ioosommamesrice very well.
a} puts on b) wearing up c) dresses d} sut up P Loz
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12)' The Minister of Education ................... the foundation stonce of our library.

a) 1a1n b) lay c) laid d) lied
13) She removed bher clothes nd ...o0 0o s s sasnanee s them up on the nail.
a) hunged b) hang ¢) hung d) hanged.
14) You......ooovneen.n. come to my house for the book. My sister will bring it to school.
a) needn’t b) had to ¢) wouldn’t d) didn’t nced to
15) The students agreed that they ................ wear green shirts than red ones.
a) might b) had to c) could d) would rather
16) Realizing that his days were ............ the condemned prisoner turncd to God.
a) counted b) numbered ¢) going d) running
_17) Of the two beverages, tea and coffee, the ................ Is my favorite.
a) latter . b) later c) latest d) last.
18). They do speak French and .............. their sister.
© a) even does b) neither does c) so docs d) so do
19) The jhdge gave him a .............. of the doubt and sct him free.
a)jgain  b)chance c) benefit d) point.
20) .They don’t see my point clearly, but of coursc .......... they will understand it all.
a) on time b) at times ¢) in time d) over time

PART II: Complete the story below with an appropriate tense of the verbs given
in the brackets. Write only the answer against the letter mdlcated in-
the blank space (10 marks)

Everybody .........{a)........ (be, surprised) to hear that Kamana was lcaving school at the end of
the term. There was plenty of talk about what he was going to do. “If he (b)....... (lcave) at the
end of this term, the whole of this term’s work will be wasted.” Said John. “I think he is
sensible to leave as soon as he can.” Said Mukama. If he ......... (€)....... (wait) until the end of
the year, he would waste the whole year rather-than just a term. If only he.....(d).....(have start) -
work Whep he left pnmary school!” exclaimed Mark. “If he had done that, he....... (€)ennn... (may
be become) a successful farmer by now,” said John. “Still he’s ....... (f)...(carn) a lot at this
school,” interposed Michael. He told me he is probably going to becoine an apprentice metal
worker. “I....... {8)snsss (will not) do that if I were him!” said Mark. I don’t know about that said
Michael. Personally I think if he ....... (s s < (go) in for that kind of job he will do well. He told
me that unless he....... || — (earn) a reasonablec income, his family will be in a lot financial
trouble said John. But I am not so sure if his family....... 1) (knows) how well he has been
doing at this school, I don’t think they would be so anxious for him to lcave.
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PART IIi: Re-write the following sentences as instructed in the brackets
(10 marks)

1) You will miss the train if you don’t hurry. (begin Unless......... )

2) Possibly they arc children of good character. (Begin It is..............)

3) The cxamination was very simple. It was also very tricky. {Re-write as one
using.....though...)

4) “Mateso must be over eighteen years old since he is at the university,” the Judge uﬂd he
court. (Change into Reported Speech beginning: The Judge........ )

”5) Mariya askcd Juma why he had gone to town the previous day. (Change into Direct Speech)

6) My mother is short tempcred. She beat up my little sister for breaking the plates. (Rewrite

q &

as onc scntence using: Owing to....o..oooveeenat. )
7) The clock stopped because Bob didn’t wind it. (Change to the passive v01ce)
8) Hc is heavier than I. (Begin I............... ) . .
9) He isvery fat. He cannot run fast. (Rcwrite as one using.....too....to....)
10)She is a loving person. (Replace ‘loving’ with lovely.) -

PART IV: PHONOLOGY (5 marks)

" In the following words, which onc has a diffcrent sound from others?

I) a)loud b) book c) should d) tooth i
2) a) Tocs b) nosc c) lose d) hoes ! "
3) a) moncy b) some c) love . d) shoe
4) a) plain b) mail C) man d) plane

5) a) snow b) call c) go d) girl

SECTION C: SUMMARY

Read the following passage and then, in not more than 80 words summarize the
problems that make it difficult for developing countries to achieve healthy living
conditions. (10 marks) :

Pcople living in developed countrics take good hcalth and sanitation for granted. It is casy
cnough to forget how much it costs to develop and maintain that security.

The requirecments of a healthy life sounds simple but it can be very difficult to achieve. A i
balanced dict is cssential. This ensures healthy growth in children and provides resistance to
infcction. Pure water supplics are necded to avoid the dangers of water borne diseases. Cood
quality housing protects people from the harmful cffects of climate and provides hygienic living
conditions. A health service should be available for the treatment of illnesses and to educate
pcople in hygicne and preventive medicine, while refuse disposal and sewage systcms are

nccessary to remove waste safcly and cfficiently.

' Nowadays virtually cvery onc in developed countries enjoys living standards that meet these
conditions. Yet the developed world has only been able to achieve this through massive

investment of public moncy.
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The developing countries on the other hand arc only just beginning to make progress towards
a healthy society. They face many extra problems that make the task even harder. Economic
difficulties mean that little money is available for improved medical services. Rapid population
growth makes it difficult to provide good quality housing and hygicnic living conditions.

Production of food is less certain because of the unrealistic climatic conditions. The result of
this is inability to provide a balanced diet. The high temperature cncourage discasc. Finally,
long distance and poor communication in many regions lead to scrver difficulties in supplying

" medical help or spreading health education.

SECTION D: COMPREHENSION (15 MARKS)

Choose one topic from the following topics and write a composition of not more
than 300 words.

Note: You must not write your real names in any of the stories.
1) Write about your favorite subject at school saying why you like it so much.

2) Someone has offered you one of the following as a gift:
(i) A house '
(ii) A car
Which would you choose? Write a composition cxplaining your choice.

3) Imagine you are a leader of your village. What changes would you make to improve the
conditions in your village?

END

ENGLISH I MARKING GUIDE 2016

PART I: COMPREHENSION PART II:

4

1.True 1. &) and b) _
‘ ’ - Because their resources are limited/limited capita.

2. False - - They lack modern agricultural and industrial
technology to modify the econumy.

3. False ‘ - Their products cannot compete with others on thc

' world market.

4. False , - Becausc creating industrics requires modern

industrial techniques which are designed to save

S.True labour.

_ 2. - They operate on a small scalc
¥ _ - Poor quality goods
' - - They arc run by a few individual craftsmen.
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